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B. B. A. (Hotel Management) First Year (4 Y. D. C.) Examination

BASIC HOTEL ACCOUNTING AND APPLICABLE LAW
Elective Paper

Fwfoaw TagT
Time 3 Hours] [Max, Marks 70
: [Min, Marks 25
iz o gve wiard 1 ad § e siw R dreem s # 20T ayare gnft 1 5f? arfie gt R

60 e sfafss ooy ey smom
e % qwr s P ¥ wfords s sfRw g g

Each section is compulsory. The marks distribution is same as shown in the question
paper. The blind students will be given 60 minutes extra time.
University has all rights to change the distribution of marks.

gUE & : ARY FgIwig W Section A : Very Short Answer Question Ixd=12
e wdft i v el § 1 o g afler e iy 50 o

All three questions are compulsory, Maximum word limit for answer 50 words,
I, e oy vEf § Ay wr gwed § 7 gad Adred e
What do you mean by Double Entry System of Accounting ? Explain its characteristics.
T OR
TATE TR 7 U AN FAET AAT 2 7
What is Trial Balance ? Why it is prepared ?

2. FEvrfig gt & are @i
Write the merits of Departmental Accounts.

#gAEr OR
e £ v worelt & ey T AwAd § 7

What do you mean by Uniform System of Accounting 7

3. TR FEE RN |
Explain Master Budget.

#aET OR
e dern it afasT T )
Explain the role of Internal Auditor.
wWUE F ; AYITLy 7 Section B : Short Answer Question 4xT=28

Az wdft wTe vy affand § | 9w By affee avee iy 200 o165 |

All four questions are compulsory. Maximum word limit for answer 200 words,
1. U ey Y srgeas avat w7 A |
Explain essential things‘of a Contract.
F99T OR

e TR % st # g v wier afa i € qeg G £ arare |
Explain the main features of Shops and Establishment Act with reference to Hotel Industry.

P.T.0.
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2. e g wffe 1926 wyew fdred sy |
Explain the salient features of Trade Union Act, 1926.

s OR
Frera Forerere iR ¥ et R S s v s & 9 9 w0 o ame |
How Contraller is appointed in Rent Control Act 7 Also explain his functions.
3. W AT T Fed FHE ET qiET A |
Explain the role of the Central Committee for Food Standards.
=T OR
e Frfrast ¥ sy v et %7 gy

Explain the powers and duties of Food Inspectors.

4, w,mﬁﬁmmﬁﬁ%mmﬁaﬁﬁﬁﬂmﬁﬁﬁﬂﬁﬁﬂmﬁﬁm
Explain the different Licenses and Permits applicable to Hotel, Restaurant and other Catering
Establishment.

T OR
Erew, YeeTtE U e WY SfRurT & A ared € s A qF THETRCT % ST R |

Explain the procedure of procurement and renewal of different Licenses applicable to Hotel,
Restaurant and other Catering Establishment.

qug @ Sidgwiy v Section C : Long Answer Question 2x15=30
Atz o & g sfRard § 1 gec 3 Ffie s i 500 9w |

All two questions are compulsory. Maximum word limit for answer 500 words.

1, et £ afet § 31w, 2020 =7 FEi a9 9T
The following Trial Balance appeared on 31¥ March, 2020 in the books of a Trader :

¥ (Rs.) w9 (Rs.)
i (Stock) 2,200  fawa (Sales) 15,800
(1 srir=, 2019) (1 April, 2019) F5ftorT (Commission) 670
#% (Purchases) 12,000 =57 (Interest) 40
wrer 9% 92T (Freight on Goods) 140 93T (Capital) 9,000
LT # FEHT #RT (Creditors) 1,540
(Wages after tax deduction) 400 % 97 (Bills Payable) 450
#a (Salaries) 1,600
7 Ud AT (Taxes and Insurance) 400
HqTATA =9 (General Expenses) 800
werreq #w (Bad Debts) 250
7g (Cash) 200
% (Bank) 2,000
Az (Drawings) (90
#7arT (Debtors) 2,100
w7 (Buildings) 4,720
27,500 27,500

Hﬂmﬁwﬁﬁﬁﬁaﬂrﬂﬁ%mﬂilﬁ,zﬂmﬁ%maﬁmm&m:{i}iSD
w0 T e S0 T S % 3 aTht & qvey 50 v v F gdaw £ 1 (i) 7F wew ¥ 120 70 F1ww
aerer 3T e T8 e # & st A, Teeg geast o £rE wiEf A fr wit ) (i) s ad w150
mmmﬂrmﬁmgam{iv}mﬁm%amq;rﬁqn{v}mﬁqw%wm#ﬁrqwm
T | (vi) 31 77, 2020 F1 w2 w7 ge 3,500 €9F 97 | (vii) wEgh & Fer w@ oA 10 I |
(viii) gritesr AT 200 F7 2 |



150

3 NP-704

From the above an on the basis of under mentioned adjustments, prepare Final Accounts for
the year 31% March, 2020 : (i) Salaries Rs. 150 and Taxes Rs. 50 have yet to be paid but Insurance
Rs. 50 are prepaid. (i) Goods worth Rs. 120 were returned by a customer and taken into stock but
no entry for it was made in the books. (iii) Commission Rs. 150 has been received in advance in
respect of next year. (iv) Depreciate building by 10%. (v) Make a provision for bad debts at 3% on
Debtors. (vi) Value of stock on 31% March, 2020 was Rs, 3,500. (vii) Tax deducted from wages
amounted to Rs. 10, (viii) Goods-in-transit is Rs. 200,

#aET OR

T T wegr F A e A i wft Frand) ¥ B Ry ereat w7 - R s 1,000 29TE,
Framr 7 2,000 39TE, AT 7 2,400 THE | Feft A qwr 1,00,000 w9 off | 1 S w1 fw faremr o
120 Ta7E, Brarr & 80 s, Frwmr® 152 gard | el et &7 fwa f s : e a7 1020 3%
¢ 20 w0 aFF TETE, BT A 1,920 T AT 22,50 wi ufy gerd, FraTT & 2,496 THTE 7T 25 ¥4 AT
EREd
e AT Y 3T gAY A g A sy dar e i
The purchases made by a business having three departments were : A 1,000 units, B 2,000 units and
C 2,400 units at a total cost of Rs. 1,00,000. The Stock on 1st January were : A 120 units, B 80 units
and C 152 units. The sales were made as : A 1,020 units Rs. 20 each unit, B 1,920 units Rs. 22,50
each unit, C 2,496 units Rs. 25.00 each unit. '
Prepare Departmental Trading Account assuming that the rate of Gross Profit is the same in
each case.

X eyt AdwT 3 50% SHET 7 F T & v 10,000 SHTLET F ITOEA FAT | G FEAT 60% TH
70% AT 7T #T w5 3, A1 A A v S | 60%% erar v w renft f AT 2% @ At § 0
fadft g 3% e wmar g 1 70% AT e T ATt Y s 4% aE s & g G e 5% fie e 8
50% SRAT TE TR AT 180 w9 why whrE & ud 200 7Y 97 TS 9 I wvaw | 180 w04 £
CIRGRCE S ani o i

X Ltd. is currently working at 50% capacity and producing 10,000 units. Estinate the profit of the
company when it works at 60% and 70% capacity. At 60% capacity. the raw material cost increases
by 2% and the selling price falls by 3%. At 70% capacity, the raw material cost increases by 4%
and the selling price falls by 5%. At 50% capacity, the product cost is Rs. 180 per unit and is sold at
Rs. 200 per unit. The unit cost of Rs. 180 is made up as under :

#99 Rs.
Freaft it 7 (Cost of Materials) 100
qAEI (Wages) 30
FTeETAT ITeea Y (Factory Overhead) 20 (40% Fixed)

werraetg FuitsrTr (Administrative Overhead) 30 (50% Fixed)
' FeET OR

Tt & vy ey & 0 wu e gt €7 sveor Ay wEEr |
What do you mean by Cash Book ? Explain its different types with help of illustrations.

-[-1-113



Roll NO. covvnsrrnansiencnes
150 af=f=f15

July 2022
B. B. A, (Hotel Management) First Year (4 Y. D. C.) Examination

FOOD AND BEVERAGE MANAGEMENT 1
Major Paper — I

ey 7T - |
Time 3 Hours] [Max, Marks 70
[Min. Marks 25
Fre: ot g afamd ¥ tﬁ%ﬁqﬂwmwﬁwﬁimiﬁmﬁWWﬁrﬁq

60 Farfere sfafs g gy 9o |
Bt % e o e & aRtad i gt §

Each section is compulsory. The marks distribution is same as shown in the question
paper, The blind students will be given 60 minutes extra time.
University has all rights to change the distribution of marks.

g & : @Y FYITLT 9 Section A : Very Short Answer Question Ix4=12
A i e oy s § 1 g g wfiea aes i 50 T |

All three questions are compulsory. Maximum word limit for answer 50 words.

1. B Ao grEtEe ol ffe )
Write short note on Menu Planning,
_’ 7oAt OR
ey Frers o R feogot ferfen o

Write short note on Garbage Disposal,

2 i 3w o werd SuECu & AR # vl A |
Briefly explain various Bakery and Ancillary Equipments.

= Al OR

farsr it waraaT & 3H F HE F AAAEY |

With the help of diagram, explain Cuts of Lamb.

3, W a A % fve wre e £ 7 mmen fifY )
What are the various types of K, O. T. ? Explain.
< 9497 OR
wmﬁ'ﬂﬁﬂ%mﬁwﬁn@%ﬁﬁm|
Write a note on Ancillary Departments of F & B Service.

®ve T AT 77 Section B : Short Answer Question 4%7=28
Sz wft s g AR & | e Ay wiRwaw gres HiHT 200 952 |

All four questions are compulsory. Maximum word limit for answer 200 words.
1 (@) wrdEre el  wdet b et £ gt I |
(@) T aE Evee ¥ wre geaa e ¥ drgfRe v A et Fii )

(a) List the duties and responsibilities of Executive Chef.
{(b) Draw the modern staffing of the Food Production Department of a large Hotel.

T OR
aft e e i i 1 1 eftee Admer we ¥ o g e
Classify all the Mother Sauces. Write the recipe for 1 Itr of Béchamel Sauce.

P P.T.O.
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sfror e A § w see & 2 o R AT e w1 B $ii
What is the difference between a Meal and a Menu ?
Ve 3
#aET OR
aTT AT T 2 7 P i mgraar & wr v A e ffE £ e fif
What is Cooking 7 With the help of diagram, classify methods of Cooking.
wre T el T R s arer ey ¥ A £ 7 wede A we ¥ aare |
;Whai are the different types of Menu used in Catering Establishments ? Explain each in brief.
#FaaT OR
qeraTE 3 A Frrae ST Rrem £ sprear Fifim | et 00 F v o s A A e SR
FUFLOT F ATH FATIL |
With a flow chart, explain the Triplicate Checking System. Name three Cash Handling Equipments
found with a Restaurant Cashier.

e 1 2o AT i v 3 e e o At e B F e g 7
Classify Cigars on the basis of their size and colour of the wrapper. What are the parts of Cigar ?
94T OR

a2 g £ At ARt # awwe
Expla_.'iﬂ various methods of Bread Making.

gre ¥ drdaeds v Section C : Long Answer Question 2x15=30

ez

150

wft 2wy affard § | g gy sfgwaw e Wt 500 o=

All two questions are compulsory. Maximum word limit for answer 500 words.

e AT T i W gt B ¥ AT wrewat A o sl g T oeE TreEE § el A
TETRI ® AT AEAF FA A gAEg S |

In a tabular form, list the different courses of the French Classical Menu in sequential order with
their English cquivalent and two examples of dishes from each course.

s OR
wefrare it wErEE @ frae F Rt & afwar § affe w=t a0 i fifvm )
With the help of Flow Chart, describe the steps involved in manufacturing process of Beer.
dfawdt & oter wiin et 1 grewree A s wi § aawmy | avefd aE o i @ A g
TEar g 7
Highlight and briefly explain five classic cuts of Vegetables. What is the effect of heat on Vegetable
Pigments.?

#7471 OR
"R AT i T f s areT Bl s v oA € 0 o gd A w armw ge w0 A
Lot Ft AT AR |
What are the various types of sugar used in Cookery ? List various stages of Cooked Sugar stating
their temperature,

11115
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July 2022
B. B. A. (Hotel Management) First Year (4 Y. D. C.) Examination

ACCOMMODATION MANAGEMENT -1
Major Paper — 1l
T 7 - 1l

Time 3 Hours] [Max. Marks 70
[Min, Marks 25

At : ol mve wferd § ) ot Fre s R Sreer s f suf® e 26 ) 3 arfe gt & B
60 Tz arfafss aor Ry soam
TRy & e s FRrer & ik 1 s qefem & |

Each section is compulsory, The marks distribution is same as shown in the question
paper. The blind students will be given 60 minutes extra time.
University has all rights to change the distribution of marks.

"vT & : {f AYIELT T Section A : Very Short Answer Question Ix4=12
A1z et @ vy afAad 8 1 e g afawaw e i S0 wrem |

All three questions are compulsory. Maximum word limit for answer 50 words.

1, zaFrafwaarsramareds?
What do you mean by Evening Service 7

#araT OR
Ty e w1 A § AT |
Explain in short about Group Reservation,
2, wHwr grEwdTeEEE ? :
Wheo is Executive Housekeeper 7
#urgT OR

e 4ifw Frarr i grag sresar F are & o |
Write the General Awareness of Front Office Department,

3. IUEOOT ¥ CETETE T uE A i
Wrile a note on Maintenance of Equipments,
wE7 OR
TreH § wE AT T WEe gHATET |

Explain the importance of Front Office in Hotel.
*:J""lf -3

HUEE Hg‘ﬂ'r!‘ﬂ'arw Section B ; Sﬂurt Answer Question 4x7=28
A1z . wdrgTo vy wfAed § | i i o {200 957

All four questions are compulsory, Maximum word limit for answer 200 words.
1. “zor free gread e fram s 8089 % &1 9 gTEew Foarg waa £ e i
“Desk control is the nerve centre of the House Keeping Department.” Explain the statement with
suitable example. :
#aET OR
T A e 7 e Tt i = S )
Explain the responsibilities of a Front Office Manager.

P.T.O.
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2. ote FEaTeT g % S ST e i sy s 7 ffE |

Briefly explain the importance of reservation section of a Five Star Hotel.
AT OR

HETE THE T FE A |

Write the classification of Cleaning Agent.

3. v aitftew R § wrd firve o= F0  afa fafa )

Write the procedure of starting the work shift in Front Office Department.
AT OR

TTs wiE o Prara e 0

What are the principles of Cleaning Agent 7
4, TErcfi ot st £ awrd § an few e s el F° 2 ffus el st A awrd o wfien M

Which liquid will you use in cleaning Ceramic and Wood 7 Write the procedure of cleaning the
FAMme.

F37 OR
STy SraT fEree F anTeT foreE % gl Fr w7

How will you handover your shift to next shifi take over Incharge ?

wve @ ; Fdewi w7 Section C : Long Answer Question 2x%15=30
dr: qvdt & vy wfRErd # | g iy afieas ge ftmy 500 g )

All two guestions are compulsery. Maximum word limit for answer 500 words.
. ol fey ohes $19 £ 7 wiiere f1 dard saenem
Who is Night Auditor ? Explain the preparation of Transcript.
: #9a1 OR
For Frfrerm wits ot 7 wrew gavee o gud ik e | w=egar & fiede vavEre & e § W@y
70 e w0 ¥ fAftaor & are & e & g

Draw the format of Room Inspection Check List and write the procedure in detail of Guest Raom
Inspection by keeping in mind the aesthetical upkeep of hygiene.

2. drareafsT & avrEr w7 aveed § 9 afe T e i =re Fif, 3 I9E, 5w o ey aEr
What do vou mean by Wall Finishes ? Explain the term Wall Papers, its uses, merits and demerits.
Faar OR
e fyarar greer # st sffmrTedt &7 aug smrew F7 any fee aeg & dare ) Bere g B

Write in detail, haw will you handle the group arrivals of Company Executives in Five Star Hotel,

150 : ' of-1-115
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July 2022
B. B. A. (Hotel Management) First Year (4 Y. D. C.) Examination

COMPUTER APPLICATION — I
Minor Paper
TToT T

Time 3 Hours] [Max, Marks 70
[Min. Marks 25

Are:  wdt ave afard § | oft F R s B Fraar e # gafd agare geft ) g el e ®
60 farfez afafs wwa Ry s
el ¥ vy s R % afeds s afdse gim g |
Each section is compulsory. The marks distribution is same as shown in the question

paper. The blind students will be given 60 minutes extra time.
University has all rights to change the distribution of marks.

Gveg & : #fF ALITHT 79 Section A : Very Short Answer Question Ixd=12
Az et fm s afard € | e By sl o ot 50 =

All three questions are compulsory. Maximum word limit for answer 50 words.
1. #egEs & fadmar ¥4r § 7
What are the characteristics of Computers 7
AT OR
Sredt # FegET F agwE 17 fBfE
Write down the application of Computer in Hotels,

2. MS-Word Ft #ivf =7 frsroamt aam37 |
State any four features of MS-Word.

?C Fa1 OR

Fead & afraar # g Rt £ o
Write down the definition of Network and its characteristics.

3. Fre@EfEe it sgrenr $150 0 Explain the following :
(a) COUNT and COUNT A (b) MAX and MAXA

#yaT OR
/ w7 & 9 TRTAE ¥ ATAT it e i |

What is Internet 7 Explain the advantages of Internet.,

quE T | WYITLE T4 Section B : Short Answer Question 4x7=28
e ot =T w st § 1 39T gy Afawaw e 1WT 200 951

All four questions are compulsory. Maximum word limit for answer 200 words,
L TEET F el Hi e A gri aeee |
Explain the components ‘of Computer with a neat diagram.
areEr OR

T 3T graeye Rarsy 1 v & wway )
Explain Input and Output Device in detail.

P. T.O.
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: l.:r} H;:] U
2/ wtwedre dr e ¥yl o e f wwemn ) - Gt AEAA
Explain Software and types of Software in detail, © e M
Fgar OR
wresfiz 747 & 7 MS-Excel Srgefiz £ firaarat ¥ avt # =1 Fifo |
What is a Spreadsheet ? Discuss about features of MS-Excel Spreadsheet.
1, wrsrer WifEaT =y & 9 ey dasdiw # wud gty fofaT )

What is Social Media ¢ Write down its role in Hospitality Promotion,
a7 OR

wyerer Hif3eT & oAt & ave # fafa |

Write down the merits and demerits of Secial Media.

4. MS-Excel # g fafers gt offr Faore =gy Fifeg |

< Explain various formulas and functions used in M5-Excel.
a7 OR

3o A1 afvairs A | 2 e F SRa ¥ FaraTa €2

Define E-mail. What are the advantages of E-mail in day to day life 7

que 7 : Frfawrity wF Section € : Long Answer Question 2x15=30
e weft & wy sifad § | g g el ares i 500 9 |

All two questions are compulsory. Maximum word limit for answer 500 words.

1 () e s Ry oetre £ e & B
Write down the following Social Media application in detail :
(i) Linkedin (i) Twitter {iil) Facebook (iv) Blog.
(@)  Power Point & 3Ty F2T SS9 $3 471 A% § 7
How can you ¢reate a new presentation in Power Point ?
waET OR
() S veTReE AT & o swEeTy T e R O w7

What is Facebook Analytics and how can businesses get value from it ?
(@) ey g # Avere dfifEET A i o w=t fif
Discuss the role of Social Media in Hospitality Promotion.
e o & faedt ot 12 frogofy ff © Write note on any five of the following
{a}—"Importance of Internet in Hospitality Industry.
M) Google Analytics.
(c) Mail Merge.
(dy Search Engines,
{e) WWWand URL,
M Social Media Analytics Tools.
ﬁg}- Creating Food Blog.

12
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June — August 2022
B.H.8¢./B.JM.C./B.S. W./B.B.A./B.C. A./
B.B.A.(F.T.)/B.B.A.(H. A))/B.B. A. (H. M)
I Year (4 Y. D. C.) Examination

T YTSTEH
FOUNDATION COURSE

farefra worrr « oy o e
Paper Il : Yoga and Meditation

Time 1 Hour] [Max. Marks 50
[Min. Marks 18

Tz ot sl § 1 aft & Ry siw Rrviser dremr s & zafr agemegt ) e il aret % g 30
Az afafs aww far smom)
FrarfRarers ¥ a1 siw framem & ofedy o aftwc gim 3

1. wromarR ® geas e e sr s £

(37) ==T TAT (&) =T FrEAT () T A (%) T FAT |
2. &R T At e § aeda g g
(31) aTETTEE =TaTH 7 M FoAT &) Tt T ger TEAT

() w= o S Frifare F3 wwres ey (%) FATAATE F7AT |
et ok & o ® srrefiry £ g gt £

Lk

(oF) T AT (@) T e

) -y (%) wred |
4. T grommany F sty oftsgy € AeftaT sty s a2

() Hrerdy _ (=) st (#7) T T (@) =T |
5. SEDT AT F e Fr weAr e

(a1} T L) =T (/) AT (=) w=AT
6. sreE e aw arenf der 2

~—t) wfeE o (T Th T (7) w77 (Z) aret 9%
7. Fw## sar arr ame wr anew

(=) st w=resr 6 wrff (%) arfEE waTear £ ofy

(%) waTTen s fRgvar Ff o %) i Y
8. WIUITHTH F TAE F ST AT g &

(%) FTE AT () &1 AT o3) T (%) 1 T |
9. #FramEEwy A & Gad gt i

(37) &5 7 (@) == () firg @ %) B A
10. 9w & graT g

(=) =yt orfRRat oy o (%) ey R a1

() -5 7 g R e AZ) T |
1., wrdarfrargarf i

(31) it ww (F) T et () & awt (%) Feeft onf 3 7Y |

(=

P.T.O.
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12, amfare gfs A g wRem e oo A ag s

(¥1) smfamry wrar fary bﬁ}qﬁﬁkﬂﬁ’
() FaTeRTITY St (=) o srefaesT ot |
13. a?wﬁmﬁgmﬂ%wmﬁzm}wa@ﬁw&mm*
(=) =fEgmT \_{®) gEray (¥7) ST 5y (%) T HqaT |
14, st srerrars & fe A & ey arar
(31) wiwE Trr AFY ST AT (#) =TT () T T
15, Fwrwaa & wrfd osg oo 8 '
wﬁm (=) ST AT FAHFAT (wr) TETE ﬁ’ml
16.  SEHAT FT qET ILT
() FrEndY 2 avgfor e \_(#) 53T 7 femr At Fr AP wer
AT S T sl ofE e (%) T et |
17, e fe srae 67 Joft & arar
) ST (%) srfie s
&) T (%) A= |
18, wof Feeere § fiedt o eft Rt av s #r gy wed &
() TR () BETIaATET
~AT) TRTHA (%) TR |
19, FETHAT ¥ ST B g Sy E ey
(31) e =TT \AT) T FmET (7) A (%) PR |
20. #rsgmay Fararar d
(%) wTFT (&) HrEFT (1) TEIF AT (%) #ft-adt |
21. v T v fer e ¥ v o fr T &
\AH) THEE T gEETT (@) F3-F9 vy 77
() sywre H (%) T2 FHTH |
22, EATHTENE WA geeee A f
() T (%) Rrgrae () AT A i
23, e F Ry wmar d
(37) 7R TS ¥ AT v (@) W WTHAT ¥ AT WA w7
() i AT A () e () w2
4. Ay e e T &
) Hr (7) s \\ () e T (%) Tsie |
25, Frafaf & & sy 4 |
(1) FoE (@) wrwrft () sfraeft (%) AT siverr
26, THTET F AEE qE A0 7 A Sy fa
&) oft gy \(FY T s (=) wggr of () 77 |
27, A e wET o E
e Ao & () Wy areg & (7) e o= & (%) FF wr=m &
28. AT FATH FAT AR ;
(30) Frer & & Fwemr - L (@) e of

(=) &, 41, Fmwv (@)t gl

NE-123
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30.

Ay

33

34

33

36.

37.

38.

39,

40.

41.

42.

43.

44,

A1 7o Fer AT & e g
v () o FATHY
AT T A
At B FrT w1 T
v (31) HEATETE () fAmw
aﬁ%%ﬂwﬁﬁﬁaﬁ‘wéﬁﬁg:
gy *fa e &
(&) 2 7 de Benfa g 2
weas e wRa 8
(1) g=r 79 F1 Afeay ey
(A) ATHUT FY
HET FT {5 Seed T &
(31) &1 ST
() Srafg g
. wufEr uw e g d
\AAH) T ST
() Faeg
T, T i iy fed aafaa &
(&) T (=) FA=TETT A
FTAWITT F A EaT 8
(37) = % =17 w7 () WrETT F1
Ty geia ATty 29T fif e aoft & erar 8
(a7) anfeas
() =T
w1, ATF 7 Are fr seadta o f
{37) FTOTTETH
(&1 T
F 47 Sy argew T faTe # weraar sTaT &
A
(7) STRET qY
B wrormrs # ST rfier & v o e &
(=r) AHET ) Tt
SuifiE g7 e w9 ¥ et wrar i
(3F) T T (@) g
A T F7 wArIE fEE g B wmr R
(a7) ATt AT
() e T
TR # AT arrerE
(#1) s vd = wlie
A=) () ST (=) Tl
Fer & & it At sl s
(37) =27 (=) fifram

)@-qﬁnﬁvw

—(#) qI=T

NE-123

(@) gfSrT Ty
(%) TUdrer T |

(7)== (Z) BT

(=) Forgear 2
(z) ararer Rl & wgar &

(%) T s oy

AEY T 9T T W aTy ST

) Tl sy

() THTiY =TT |

() BT #T I e

) THTHAT |

(=) Tt gy (%) STOTTATE |

\fj)m?lﬁﬂl

o
(7) T5ET

() T F sy seame
(7) wrsfas =T )

(@) SfarEy

() FErA HaT |
() oftaeft Ly et |
(&) ¥ 7T (%) whr 9

() rEATHT ¥ g
(=) s TYTT T 97fRT 975 F0T |

(7) =gy vF fram
(F) T AT ArAEAF AE 2

(=) Tt |
P.T.O.



45, waw, aer e dEedl S g
(o) T =T H :
(7) g

46, A, 3, o o el ¥ e aar

Ay (@) gt

47, e 99 i ATE] TEAE % AT AATAT STATE

A (=) SfgaT Ay
48, 0T & FTCRT AT AT R
(or) gRE F AT A
(5} IR F A

49, EFERT A e
() e \$B T
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= : Wwwglw%ﬁqﬁmmmﬁmﬁmw gﬁwﬁaw*ﬁqsﬂ

fafae afafias wwe Rar s
frafaerey ¥ o o e ¥ oRads s alwe e

All guestions are compulsory. The marks distribution is same as shown in the question

paper. The blind students will be given 30 minutes extra time.
University has all rights to change the distribution of marks.

fFrefafer & & s wmiamr st s &
(31) qf# (7=7) (@) o= ud ATg () ST goreft (=) I T |
Which of the following is (are) element(s) of environment ;
(a) Sail (b) Water and Air (c) Biotic species \gﬂﬁ“ of the above.
watavr &t fdmar g F g
(z1) wim amfaffa A & (%) aftafda gar e
(¥) T FHA TF GAHIT AT (=) Frarse asfr
The characteristic of environment is that, it ;
(a) Always remains stable __#B) Always remains changeable
{¢) Remains stable for long time (d) All of the above.
T sEaE fIFEE L AL
(1) TH qrATHY {a}a‘gmﬁ (&) 5T (2) & st |
The nature of environmental, study is :
(a) One dimensional \}b{’Multi dimensional  (c) Narrow (d) Two dimensional.
T WRAE T AT L £
(&) TrHTES (7) ATguTEd () FAHTES (z) Foarss Tt )
The physical component(s) of the environment is (are) :
L}a’f Lithosphere (b) Atmosphere (c) Hydrosphere (d) All of the above,
wataor ¥ weaen # w7 a0 HE

(37) THTER AT A R HYE E

(@) wEfEe dy Al FTEE §

() (3) AT (@) 2T

(8) I H e A

Which of the following fact is correct about environment :
(a) , Environment is a collection of abiotic elements

. '%y]/ Environment is a collgction of biotic elements
¢)

Both (a) and (b)
(d} MNone of the above.

P.T O,



6.

i3,

I4.

2 NE-122
PR B, T ST T IR T R
(51) wer () At () afar (%) T |
Which of the following is not an example of natural resources .............. :
(a) Water (b) Energy () Land v@j'Build[ng,
frefefre & & wia-a7 o gama adi &
(30) 71g () gfarT () wrer (%) FrZaT |
Which of the following is not an inexhaustable resource :
{a) Air (b) Sunlight {c) Water ¢} Coal.
FA| HFE F HEIEIA §
(=1) Frger $t " (=) TErferw € wor
(/) A%feT® Fal wa (=) formreft & 5:2¥4T
" Energy problem can be solved by :
(a) Search of coal (b) Search of petroleum
(¢) Alternative energy resources {d) Power cut.
A # g f-At e A g
(&) Fordry () T8 () ST (%) FTEreE AT |
The main component of biogas is :
Methane (b) Ethane (c) Propane (d) All of the above,
o F A F A L, ST Al
(=) wrereaT 3 (=) sfrermfisaor (&) FATErYr (=) AT |

Which factor is not responsible for overutilization of water :

(a) Population growth  (b) Industrialization () Foresting (d) Civilization.
EE e iy 0 S Femrg

() fo=me & (F) T H

(7 =y T2t & fAei § (7) 3t sft

Waterisusedin ..............:

(a) Irrigation (b) Industries

(¢) Extraction of minerals A j;l’j All of the above.

FrevfRrfRr # & aY-ar S it o R & -

(31) =WET I () #ti= 3=

(¥) FTTR AT (%) TTEH & 1 7S |

Which of the following industry depends on forests :

(a) Leather industry (b) Cement industry

{(c) Paper industry (d) None of the above.

gerET i it g e

(31) =t ¥ (3) T

(%) FTeA F (%) I & FE 7 |

Overgrazing is harmful for ............... :

(a) Forests (b) Air sources

{¢) Humang (d) None of the above.

(sr) =Y (&) snfEafRvat #ir (@ (@) AT (@) A (@) IO TR A
Dams affect ................ .

(a) Forests (b) Tribes (¢) Both (a) and (b} ' (d)None of the above.
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3
ST AT R HITRA . T R
(30) T teger ¥ () AT Sgmor
(77) o 3 (%) 9 3t |
Soil erosion is related to,,..........__

(a) Deforestation (b) Air pollution
{e) Agriculture (d) All of above.
(=) Frgay (@) & (%) &
Inexhaustible source of natural resource is P
(a) Coal {b) Oil (c) Forest
HEEHHRTT ¥ oy St w1 fem g .

(%) = (@) AT 1 w2y

(&) wrerfrs =ors (%) TwrE Tt
What factor(s) is (are) responsible for extension of desert

(a) Mining (b) Deforestation
(¢) Over grazing \/w(;[i)l} of the above,

() wma g g1 v b gt o g
(@) wedE afFfRERE o frr
() watEe & ary swaT 9
() waferes ¥ arg qwar v
Sustainable development is not aimed R t
(a)  To have food supply but not to pollute environment
(b}  Control over human activities
Inequality with the environment
(d)  Equality with the environment.

A EE L S BT R

(@) ¢ Fdt w1 ey aefom

() F IeATR v vy e # e

() af%, ary e o w7 gorer vy

(&) I adt |

Sustainable development leads fo :

(a)  Secure the future of new generation

(b)  Improve agricultural production and food processing
(¢} , Efficient management of land, air and water

\}gﬁ All of the above.

(o) == Freme () ATt fasrr |
(%) wafaeor e (%) e w0t |

The concept of sustainable development focuses on :

(a) Economic development (b) Secial development
(¢) Environmental protection (dYAll of the above.
TR e F g TR

() AT . (®) s () wa foeen

The set of ecosystems is called ....._... 3 A
{a) Biome (b) Climate (e) Sub system

(AT

Vé] Solar.

(%) g7

(d) Structure.

NE-122
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(8) T aritfiy

Savaana Grasslands are found in ... ... :

North Central Africa
¢) North America

(7) wietomr
(=) = mrfdraT

(b) Australia
(d) Central Asia,

ST TR T RATRET ¥ w A Bw A & S a2

(a1) FTer () gwaT (%) =7 (7) farft
The house of tribals of Tundra region are calledas ... -
(a) Time (b) Izba V((j Igleo (d) Tipi.
FrafefRa # 8 TR AT 2
(1) = (@) 3t
() =y (T) T 74t
Which of the following is a grassland :
(a) Downs (b) Lanoz
(c) Steppe (d) All of the above,
REEECE i ¢ U
(31) Wt (=) s
() ETeT (= =
The world’s largest desert is
(a) Gobi (b) Kalahari
\y)};;}ham (d) Thar.
FF arfifRafis & w1 gagor
Er (F) TTeT (=) ===g=7 () ForETT |
Which one is the example of artificial ecosystem :
{a) Forest (k) Pond {c} Desent (d) Garden.
A AR T FETd &
(2r) FewTEw @ e o
() sTafis e (@ s i
All herbivorous are called ;
(a) Producers Secondany conmamer
(¢) Primary consumers (4) Termary consumsers.
TF T AP v o ¥ e e B e =IE:
() Aifa (T rewr =T
() =T wre (L - f
When more than one food chain is interconnected it is calles -
{a) Pyramid (b) Food level
(c) Food web : Food groep.
i wifefRafis ffis dor & e AP seer amar £ - :
(1) 7 Trfefeafas g & (@ T SRy
(%) wTH v wifefeafas () FEmmm wh T A
In which ecosystem, the pyramid of biomass is inverted -
(a) Forest ecosystem Aquatic ecosystem
(¢) Grassland ecosystem (d) Desert ecosystem.

NE-122
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FEiasm AT TR e
(=) =Tt FeaTEw (&) TTHRT
(=) FTEEE (%) FrE w2 |
Which of the following is not a biotic component :
(&) Self producer , (b) Consumer
{c) Becomposer \/Qd‘f Organic matter.
LR G ERGE fo o S D 1 - SO AL
() 7 P @) TR
(%) =g fsfiy (%) TTIr F A A
The energy flow in ecosystem is :
A4) Unidirectional (b) Bidirectional
{c) Many directional (d) None of the above,
gfifyffrargly . yEETH TEET R
() feax (=) Faefrr
() ferefter : () T |
The ecosystem always remains in ... State
(a) Stable (b) Secondary
L&Dj‘Mmicnal (d) First.
FAT AT AT TETE 2
(37) st (7) 9= () F=E (%) Z9ErF Ot |
The unit of energy measurement is : -
{a) Erg (b} Joule {c) Calorie ._/(d}'AII of the above.
BT ST T Wl T s, FEATATE
EIEGRIEED (=) T w
(@) ITATHT (%) T & #rf 7 |
Each step of a food chain is called :
(a) Producer Trophic level
{c) Consuwmer ¥ {d} None of the above.
Fa%! K1 & aoit & ey Sar
() FETEE (/) STHTHT
(®) FTIEE (%) wrafas 2= 1
Fungi are placed in which of the following series :
(a) Producer (b} Consumer
(¥ Decomposer (d) Abiotic component,
£ OTH AT I B T B, AW T FER g
(#) eI () TTATET
(%) argEE (%) 799 & F 7G|
Green plants prepare food by themselves, therefore they are called :
(ajProducers (b) Consumers
“(¢) Decomposers (d) None of the above.
ra A oreg 7 99T Ty G T
(%) === y () wfezT ot T8
() AT (%) HYF g HTA |
The term biodiversity was first used by :
(a) Newton l,ﬂﬁ, Walter G. Rosen

(c) Watson (d) United Nations Organization (UNQ),
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o7 A FEf wEw AT AT

(31) Foor wieawefiw aAT o () syefty wawit #

() T 7=t . (=) Tt a7

In which areas biodiversity is low :

(a) Tropical areas ; j(} Polar areas

{c) Rain forests (d) Ocean areas.

AT # HFaged Uy W gttt

(ar) e (@) 7q () s (%) = |
Which one is a threatened plant in India :

(a) Neem (B) Babool (c) Mango \}A{ Chandan.
FTUANE TET FAT W s A

(=) 7" (F) FHarEA

(/) meT T (%) i Fme |

Bandhavgarh National Park is situated in :

{a) Assam (b} Uttaranchal \}Aj Madhya Pradesh {d) West Bengal.
TR A F WA g AT A -

(&) sreyaT () wafear () ey (%) eI |
Which disease is caused by use of polluted :

(a) Asthama (b) Malaria \4;7{ Diarrhoea (d) Blindness.
STHTT TTT T oo, BT TESETATE

() 9FFT T HAwTST m@ﬁﬁﬁﬁ () ATTErAA ST AiETLE (3) T9E F w0 AL

The ozone layer is damaged by
(a) Sulfur dioxide M loro fluro carbon (c) Nitrogen dioxide  (d) None of the above.

(=) ¥ T2 erdff gy (@) arefg wgwor
GIREIES ok () e T |
The zreen house effect is related to :
fa) Radioactive pollution ﬁ hermal pollution
(¢} Noise pollution (d) Water pollution.
ylelifim 7 werfees 9oy & Fiear v g 2
(3) ATF wEE (=) o= SgET
(&) wafs wg (%) T vy ygm
Which pollution is caused by burning of polythene and plastic :
\}df Air pollution {b) Water pollation
(c) Noise pollution {d) Radioactive pollution.
e i & wfts w7 ofe v & P arfisres 5
(37) 40 g (7) 60 Tiraw () 80 Tr=w () 100 TfF |
Noise abave ............ decibels is harmful to humans :
(a) 40 decibels () 60 decibels (c) 80 decibels (d) 100 decibels.
BEAR.a THE AT TG AR &1
(31) AR (@) ¥efirgw (@) e () ST |

Which of the following is not a main soil pollutant :
(a) Arsenic : @ Cadmium (c) Lead (d) zone.
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49,

50.

7
arare i Frve ¥ fe e o P g
(3r) Forarse wTEATEE (@) Frarem sreet wreATEE
(7T) ST ATEATEY (%) o ArgemEw
Bhopal Gas Tragedy occurred due to the leakage of which gas :
(a) Methyl cyanide (b) Methyl iso cyanide
&) Iso cyanide (d) Methane cyanide.
oo § wes A afw A A T 2T T 8
(37) =FTT 71 () 2fgat =it
(%) STET =T () It o+t |
In humans, the effect of high amount of chloride in drinking water is harmful for :
(a) Teeth b) Bones
(c) Joints 1_{d) All of the above.
T T TG0 s g
(=) T AT AwETIE (F) ToFT =TT AiFmTIT
(/) () oz (=) =1 (%) o & wré )
The main pollutant(s) of air is (are) :
(a) Carbon mono oxide (b) Sulfur dioxide
' _{¢) Both (a) and (b) {d) None of the above.
T3eer o ey o worar o &
() 5 97 (@) 5 ere () 5 ey (@) 5wgi
World Environment Day is celebrated o
(a) 5 June _,_@}; 5 Jair)@/ () 5 August (d) 5 May.

e
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Note : All questions are compulsery, The marks distribution is same as shown in the question
paper. The blind students will be given 30 minutes extra time.

University has all rights to change the distribution of marks.

I. Rabindranath Tagore was awarded the Nobel Prize for literature in the year :

(a) 1921 _Ab) 1913 (c) 1903 (d) 1918.
2. According to R. N. Tagore “narrow domestic walls” refers to :
(2) small houses with narrow walls . (b) a house divided into rooms by walls
(¢) narrow minded thinking (d) broad minded thinking,
3. Aceording to Gandhiji, the existing system of education is :
(a) perfect A1) defective (¢) complete (d) lagging.
4. At what age did Velan leave home : :
(a) 16 (b) 17 K€) 18 (d) 20.

L¥

When did the real contagt between India and China begin -
(a) 3,000 years ago {b) 1,000 year ago ($¥2.000 years ago (d) 4,000 year ago,

fi. What does hatred breed -

vf&ﬂl?lai!‘ed {b) Love - (c) Life (d} Music.

7. What is Krishna's place in the Mahabharata :

(a) Revengeful character (b} Duality in character

(¢) Disrespectful character (] Sublimity in character.
8.  “The wonder that was India’ is written by :

) A. L. Basham (b) Jawahar Lal Nehru  (c) R. K Narayan (d) C. Rajgopalachari.
9. According to Gandhiji, for Education to be universal it must be i
_AH) Free (b) Expensive (c) Complicated (d) Restricted.

10.  Which tree was most dear to Velan : 4

(a) Pipal (b) Banyan {c) Mango }q:a_Mrgnga.

Read the following statements and identify as Truc or False :

11.  The poet desires to let his country sleep F’*—

12. According to Gandhiji, the existing sysiem of education is confined to Head only.
13.  *The Axe’ is written by R. K. Narayan. 1. J

14, Vijaya was the first conqueror of Ceylon, |

P.T O.
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i5. Bhisma represents cunningness.

16. The dead habit is compared to desert in the poem “Where the Mind is Without Fear”
17.  Gandhiji regarded Hindi as the language of International commerce and diplomacy, f:
18. Velan left home because of the villagers.

19. Indian Buddhism influenced the Far-East most significantly. i

20. J. L. Nehru is the author of ‘Preface to Mahabharata’. F—

Read the following passage carefully and answer the questions : (21 - 30)

Cardamom, the queen of all spices, has a history as old as the human race. It is the dried fruit of
herbaceous perennial plant. Warm humid climate, loamy soil rich in organic matter, distributed rainfall
and special cultivation and processing methods all combine to make Indian cardamom truly unique in
aroma, flavor, size and it has a parrot green colour,

Two types of cardamom are produced in India. The first type is the large one, which has not much
significance as it is not traded in the future market. It is cultivated in North-Eastern area of the country,
The second type is produced in the Southern states and these are traded in the future market. These are
mainly cultivated in Kerala, Tamil Nadu and Karnataka. As per the future market rules, only 7 mm quality
was previously traded in exchanges. But later, it relaxed its norms, and now 6 mm quality is also traded in
the exchanges.

Cardamom is an expensive spice, secondly to saffron. Indian cardamom is known in two main
varieties : Malabar cardamom and Mysore cardamom. The Mysore variety contains leaves of cineol and
limonene and hence is more aromatic. India is the world's largest producer and exporter emerged as the
leading producer and exporter of cardamom.

The main harvest season of cardamom in India is between August-February. Cardamom reaches at
yielding state two years after the plantation. The primary physical markets of cardamom are Kumily,
Vandenmodu, Thekkady, Pulivarmala in Kerala and Bodynaikkannur and Cumbum in Tamil Nadu.

Kerala is the main producer of cardamom and contributes up to 60% in total production. Kamataka
produces around 25% of the total production. Ooty is the main producer of cardamom in Tamil Nadu and
contributes around 10-15% of the total production. Besides India, Guatemala also produces around 1,000-
2,000 tons cardamom per year. Due to low quality of cardamom from Guatemala, it remains available at
cheaper rates.

i

21.  Mysore variety contains leaves of .

(a) Limonene (b) Cineol (¢)Both (a)and ()  (d) None of these: .
22, Indian Cardamom is : _
(a) Poor in quality _g}ﬁénﬂr in quality {c) Average in quality (d) None of these:

23, Guatemala produces cardamonm ;

\_{a) More but poor in quality

(b) Less but good in quality

{(¢) More and good in quality {d) Less and poor in quality.
24, Main harvest season of cardamom in India is . :

(a) August-February (b) August-March {¢¥ November (d) February-April.
25. Cardamom reaches at its yielding stage in :

(a) Immediafely after plantation

{c) One year after plantation

{b) Depends upon the plantation

__{d) Two years after plantation.
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3
India produces cardamom of ;
{a} One type’ kb)Y Two types (¢) Three types {d) None of these.
Which of the following is the variety of Indian cardamom : .
! {a) Malabar cardamom (b) Mysore cardamom  (c) Both (a) and (b) (d) None of these.
Which of the following preduction of cardamom produces by Karnataka :
(&) 25% (b) 10% (¢) 15% (d) 60%.
Find the synonym of the word ‘distributor’ :
(a) Expensive (b) Known (¢) Producer {d) Exporter,
The synonym of the word ‘Fragrance’ is :
(&) Aroma ~ (b) Variety () Contain (d) Unique.
The teacher ... '5{-? completed this chapter:
(arhas {b) have _ {c) is (d)are.
Rohit will meet vou ................ 7 Q'clock :
{a)in (b) for () with (d) at,
My brother is ... 5., University student :
{a) the \,—-’{b} a (c) an (d) None of these,
She prays ............ God daily
(a) to (b) for {c) with (d) at.
She ............. the Church every Sunday :
(a) Visit (b) Visits (¢) Visiting (d) None of these.
ACTODICE 1 v e a good exercise :
(a)is (b) are (¢) am (d) have.
The passengers ............. flight'was cancelled were upset :
{a) which (b} that (c) who (d) whose.
How ﬂfia{&!} money have you got : '
(a) many (b) any (¢) much {d) some.
You can obtain the answer ............... adding the date of birth to this figure :
{a) by {b) for (c)at (d) for.
Wemeta beggar ..., on a donkey
{a) ride {b) rider (c) riding (d) None of these.
He isthe .............. boy in the class : ] :
(a) lazy (b) lazier (c) laziest (d) None of these.
Which of the following is the suffix of ‘Book’ :
(a) let (b) ledge (c) able (d) None of these.
Choose the opposite word of *Balance” :
{(a) Non balance |_(b) Unbalance (¢) Disbalance (d) Imbalance.
Which prefix can be used with the word ‘behave’ - '
(a) in (b) dis (c) mis (d) re.
Antonym of the word *Foe’ is : ]
(a) Enemy (b) Opponent /. A€) Friend (d) Adversary.
Select the most appropriate anatomy of the word “Impartial® :
{a) harmless (b) biased {c) equal (d) Torment.

i
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Please Hiif,l", ... my humble present :

(a) Except {(bYAceept (¢) Exceept

They cannot perform the LU?J .'tﬁf\viihuut their parents :
{a) Rites k) Rights ‘) Writes

For which no salary is paid :
(a) obsolete ! {b) honorary (c) illiterate

Government by a king is known as-:
(a) aristocracy . {b) oligarchy 5 ‘.A(cj'ri'm:;mhy

NE-121

{d) None of these.
(d) None of these.
{d) None of these.

(d} autmr:'my‘
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13. ﬁ‘ﬁﬁ"mdﬁwwm‘mg;
(31) bt o At] T (39) siererepT (%) Trafr
14, =it #97 F w3 w3y fea B o -
() AT Bt e F o (@) Fwsr 7 frewar & o
| e) e st o (=) ere # anfor ¥ oy
15, = areeq o e arar # frad i
1 4 (=) Erey (1) Tt (%) Feft |
16, sz sraft By forerm 3 traer o vt wfvs s g
(31) TT (7) T |} wiey (%) 7= |
17. sEsftds wim e sin e
(3) wex A ) i wfEET (%) TFiT St (%) ST |
18, arve ofvaft o7 s g Ean
{a;,v'rﬁ:r () @oeer (/) TWET™ (%) 7=
19, A A gy wa gt
L) 5, Rrewae, 1991 (@) 6 Tz, 1985 (|) 15 famaw, 1980 (=) 25 RaT, 1982
20.  ww FY srfererdt T BE g i
(30) soTHr () Teet (®) B = (m 2
21, w o B A e
(31) #rety =yt (=) et s )
22, wEraveR & T weary § e wr At 8
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FOOD SCIENCE AND NUTRITION
Vocational Paper—1

STTATEF TTF ~ |

Time-3 Hours] [Max. Marks 70
[Min, Marks 25

Az it wve et § | oft ¥ P s Brare e s 3 aufE sae gnf ) gf® oy et ¥ R
60 Tafe wfafes g fRmr s
Frafiamey ¥ g1 st e ¥ ohady sr s gm0

Each section is compulsory. The marks distribution is same as shown in the question
paper. The blind students will be given 60 minutes extra time,
University has all rights to change the distribution of marks.

"vE o : S TSEdT ¥ Section A : Very Short Answer Question Ind=12
e et ot wr sifRerd § | ge 3 s o e 50 e

All three questions are compulsory, Maximum word limit for answer 50 words.
1. vy gfearug fifve oF Wew ¥ el )
Define Nutrition and write functions of Food.
a1 OR

“Hsita smErita wrAT (v, €1 and) wr it S 1 Taw wee e )

Define “*Recommended Dietary Intake’ and write its importance.
2. el s i afefe e oF sew e B
Diefine Balanced Diet and give its importance.
FyaT DR

AT (A1 7)) & Hfaw 1 39w Fr8 of9 299 &y i

Write functions of Iron. Give five best sources of Tron,

3 grftT % &y 3 w8 i
Write sources and functions of Protein,

aET OR
ey wiva frarft & Ay s G o 57 30 $ifa

Name Food Borne Diseases, Describe any one of them.

gUE T . AYILE T Section B : Short Answer Question 4x7=28
Atz wdr Gy AFETd § | I iy afgway ares T 200 g o

All four questions are compulsory. Maximum word limit for answer 200 words.
1. Frate &1 geieeer frfey | 9o § Frats f S 7 P F oy fofa
Clasgify Carbohydrates. Write effect of deficiency and excess of Carbohydrate in Diet.
wET OR
‘wie Fefamee o wfEm froft frfa |

Write short note on ‘Cross Contamination’,

P.T.O.
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SO & =T BT ¥ HETE FOR 7 a0 Hie |
Describe factors contributing to Food Spoilage.

aET OR
SraTi g & s vgast £ fEEEr S
Discuss psychological aspect of Meal Planning.
e T & S G et 0T 21 ATer warE # A e |
Deseribe effect of Cocking on Nutrients.

#rqar OR.
dre wes w1 ey £ | B us ¥ Bey § fae 3 @i
Classify Food Additives. Write about any one of them in detail.
sy s ufte & frr # fifeo
Write about essential Amino Acids,

a7 OR

styaT &) FCEAT FRATEY |
Explain structure of Bacteria.

gve § : dhfaerfiy v Seetion C : Long Answer Question 2x15=30

=z

150

woft 4 wor e ¥ | e B wfiee srew e 500 9

All two questions are compulsory, Maximum word limit for answer 500 words.
wrAE orfie ¥ e ¥ yrae ff afr g |
Explain process of digestion of food in Human Body.

#9471 OR
TS ST T ¥ A Er avelt TR wfEarst ¥ A fraw Rl o el fifa
Name chemical processes involved in Food Preparation, Describe any one of them.
e gear £ Rt ¥ Ay ffae | fft o fegs b fifee )
Write names of methods of Food Preservation. Describe any one of them.

AT OR
T FET e 9% S Py e

Write short essay on ‘Protein Energy Malnutrition’.
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